3MO06B Pupil Tasks Plan ok

Master Non-Standard Partitioning (3 digits)

Fluency 1 Fluency 2

Complete the stem sentences. Draw a non-standard partition of 557
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combine to make 236
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s 557 partitions into , and
C

combine to make 343

Draw a non-standard partition of 724

Reasoning, problem solving, answers and
teaching slides are available with a subscription.
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combine to make 419
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Master Non-Standard Partitioning (3 digits)

Fluency 3 Fluency 4 }
c
Combine using the part-whole models and equations. Partition using the part-whole models and equations. %
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40 + 600 + 24 = 200 + 140 = O+__ +100=126 400+ =770 §'-§
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700 + 270 +19 = 410 +138 = 620 + 250 + =874 + 31 =261
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Master Non-Standard Partitioning (3 digits)

Fluency 5 Fluency 6
Partition using the part-whole models and equations. Fill in the missing numbers. _S
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Fill in the missing numbers. o

210 + =245
345 - =110
630 + 29 =

() ()
590 - 360 =

288 - =250 597 - =317

@ © Planpanion LTD 2024



